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[J Create demo schema(d O OO O 00 O ) sqlplus>start
$ORACLE_HOME/sqlplus/demo/demobld.sql 2.00 O login.sql
define_editor=vi set serveroutput on size 1000000 set trimspool on
set long 500 set linesize 100 set pagesize 9999 column plan_plus_exp
format a80 column global _name new_value gname Oselect
lower(user)||@||decode(global_name,WEBDB.FANYAMIN.NET,
webdb,global_name) global name from global _name. set sqlprompt
&amp.gname> set termout on 3.0 sglplust] OJ [0 AutoTrace 1)cd
$ORACLE_HOME/rdbms/admin log into sqglplus as
system(connect system/manager@webdb) run @utlxplan run create
public synonym plan_table for plan_table. run grant all on
plan_table to public. 2) cd SORACLE_HOME/sglplus/admin log
Into sqlplus as sys(connect sys/change_on_install@webdb) run
@plustrce run grant plustrace to public. 0 .00 O 1.0 O O O
OOracleD OO0 OOODOODO if(possible) 0 O OO SQLO O
[ O else if(possible) O plsqlt] O else if(possible) [ javald [0 O [
elseif(possible) D CO O OO else 00O 0OOOOOOO O
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system@webdb>alter system flush shared pool. system@webdb>set
timngonJ OO O 0OsqiUO,000,000000000,00



[0 O O --bindtestl.sqgl, did not use bind variable declare type rc is ref
cursor. |_rcrc.|_dummy all_objects.object_name%type. |_start
number default doms_utility.get_time. begin for i in 1..1000 loop
open |_rc for Oselect object_name from all_objects where
object_id=||i. fetch |_rcinto | _dummy. close | _rc. end loop.
dbms_output.put_line(round((dbms_utility.get_time-|_start)/100,2
)||seconds...). end. / --bindtest2.sql, use bind variable declare type rc
Is ref cursor. |_rcrc. |_ dummy all_objects.object_name%type. |_start
number default doms_utility.get_time. begin for i in 1..1000 loop
open |_rc for Oselect object _name from all_objects where
object_id=:x using 1. fetch |_rcinto|_dummy. close | _rc. end loop.
dbms_output.put_line(round((dbms_utility.get_time-|_start)/100,2
)||seconds...). end. / Oracleld OO OO O Oracled 0 0O O 030 0O O
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